



[image: image]









[image: ]






Every effort has been made to trace all copyright holders, but if any have been inadvertently overlooked, the Publishers will be pleased to make the necessary arrangements at the first opportunity.


Although every effort has been made to ensure that website addresses are correct at time of going to press, Hodder Education cannot be held responsible for the content of any website mentioned in this book. It is sometimes possible to find a relocated web page by typing in the address of the home page for a website in the URL window of your browser.


Hachette UK’s policy is to use papers that are natural, renewable and recyclable products and made from wood grown in sustainable forests. The logging and manufacturing processes are expected to conform to the environmental regulations of the country of origin.


Orders: please contact Bookpoint Ltd, 130 Milton Park, Abingdon, Oxon OX14 4SE.
Telephone: +44 (0)1235 827720. Fax: +44 (0)1235 400454. Email education@bookpoint.co.uk
Lines are open from 9 a.m. to 5 p.m., Monday to Saturday, with a 24-hour message answering service. You can also order through our website: www.hoddereducation.co.uk


ISBN: 978 1 4718 7631 8
eISBN: 978 1 4718 7632 5


© Melanie Vance 2017


First published in 2017 by


Hodder Education,
An Hachette UK Company
Carmelite House
50 Victoria Embankment
London EC4Y 0DZ


www.hoddereducation.co.uk


Impression number   10 9 8 7 6 5 4 3 2 1


Year      2020 2019 2018 2017


All rights reserved. Apart from any use permitted under UK copyright law, no part of this publication may be reproduced or transmitted in any form or by any means, electronic or mechanical, including photocopying and recording, or held within any information storage and retrieval system, without permission in writing from the publisher or under licence from the Copyright Licensing Agency Limited. Further details of such licences (for reprographic reproduction) may be obtained from the Copyright Licensing Agency Limited, Saffron House, 6–10 Kirby Street, London EC1N 8TS.
Cover photo © Stillfx/123RF.com
Illustrations by Integra
Typeset in Integra Software Services Pvt. Ltd., Pondicherry, India
Printed in India


A catalogue record for this title is available from the British Library.





Introduction



COMPONENT 2: DEPTH STUDY


Component 2 involves the study of a significant period of historical change and development (around 20–25 years at AS and 40–50 years at A-level) and an evaluation of primary sources.


The Cold War, c1945–91


The specification lists the content of this component in two parts, each part being divided into three sections.


PART 1 To the brink of Nuclear War: international relations, c1945–63





•  The origins of the Cold War, c1945–49



•  The widening of the Cold War, 1949–55



•  The global war, 1955–63





PART 2 From détente to the end of the Cold War, c1963–91





•  Confrontation and co-operation, c1963–72



•  The Brezhnev era, 1968–85



•  The ending of the Cold War, 1985–91





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


The AS examination


The AS examination which you may be taking includes all the content in Part 1.


You are required to answer:





•  Section A: one question on two primary sources: which is the more valuable? You need to identify the arguments in each source as well as evaluating the provenance and tone. Using your knowledge in relation to these strands, you need to assess how valuable each source is, and then reach a judgement on which is the more valuable. The question is worth 25 marks.



•  Section B: one essay question out of two. The questions will be set on a topic reflecting that this is a depth paper, and will require you to analyse whether you agree or disagree with a statement. Almost certainly, you will be doing both and reaching a balanced conclusion. The question is worth 25 marks.





The exam lasts one and a half hours, and you should spend about equal time on each section.


At AS, Component 2 will be worth a total of 50 marks and 50% of the AS examination.


The A-level examination


The A-level examination at the end of the course includes all the content of both parts.


You are required to answer:





•  Section A: one question on three primary sources: how valuable is each source? You are NOT required to reach a conclusion about which might be the most valuable. You need to identify the arguments in each source as well as evaluating the provenance and tone. Using your knowledge in relation to these strands, you need to assess how valuable each source is. This question is worth 30 marks.



•  Section B: two essay questions out of three. The questions will be set on a topic reflecting the fact that this is a depth paper. The question styles will vary but they will all require you to analyse factors and reach a conclusion. The focus may be on causation, or consequence, or continuity and change.





The exam lasts for two and a half hours. You should spend about one hour on Section A and about 45 minutes on each of the two essays.


At A-level, Component 2 will be worth a total of 80 marks and 40% of the A-level examination.


In both the AS and A-level examinations you are being tested on the ability to:





•  use relevant historical information (Sections A and B)



•  evaluate different historical interpretations (Section A)



•  apply the skill of analysing factors and reaching a judgement (Section B)





How to use this book


This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination.


The book is divided into four sections – one for each section of the A-level specification.





•  Each section is made up of a series of topics organised into double-page spreads.



•  On the left-hand page you will find a summary of the key content you will need to learn. Words in bold in the key content are defined in the Glossary (see pages 104–6).



•  On the right-hand page you will find exam-focused activities.





Together these two strands of the book will provide you with the knowledge and skills essential for examination success.
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Examination activities


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers on pages 109–112. These have the following symbol to indicate this: [image: ]


Each section ends with an exam-style question and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.






Mark schemes



For some of the activities in the book it will be useful to refer to the mark schemes for this paper. Below are abbreviated forms.


Section A – Primary sources






	
Level  

	AS-level exam

	A-level exam






	1

	Describing source content or stock phrases about value of source; limited understanding of context.

(1–5)



	Some comment on value of at least one source but limited response; limited understanding of context.

(1–6)








	2

	Some relevant comments on value of one source, or some general comments on both. Some understanding of context.

(6–10)



	Some relevant comments on value of one or two sources, or focus only on content or provenance, or consideration of all three sources in a more general way. Some understanding of context.

(7–12)








	3

	Some relevant comments on value of sources, and some explicit reference to focus of question, with some understanding of context. Judgements thinly supported.

(11–15)



	Some understanding of all three sources in relation to content and provenance with some awareness of historical context. An attempt to consider value, but probably some imbalance across the three sources.

(13–18)








	4

	Range of relevant well-supported comments on value of sources for issue identified in question. Not all comments will be well substantiated, and will have limited judgements.

(16–20)



	Good understanding of three sources in relation to content and provenance with awareness of historical context to provide a balanced argument on their value in relation to focus of question. One or more judgements may be limited in substantiation.

(19–24)








	5

	Very good understanding of value of sources in relation to focus of question and contextual knowledge. Thorough evaluation, well-supported conclusion.

(21–25)



	Very good understanding of all three sources in relation to content and provenance and combines this with strong awareness of historical context to present balanced argument on their value in relation to focus of question.

(25–30)









Section B – Essays






	
Level  

	AS-level exam

	A-level exam






	1

	Extremely limited or irrelevant information. Unsupported vague or generalist comments.

(1–5)



	Extremely limited or irrelevant information. Unsupported vague or generalist comments.

(1–5)








	2

	Descriptive or partial, failing to grasp full demands of question. Limited in scope.

(6–10)



	Descriptive or partial, failing to grasp full demands of question. Limited in scope.

(6–10)








	3

	Some understanding and answer is adequately organised. Information showing understanding of some key features.

(11–15)



	Understanding of question and a range of largely accurate information showing awareness of key issues and features, but lacking in precise detail. Some balance established.

(11–15)








	4

	Understanding shown with range of largely accurate information showing awareness of some of key issues and features, leading to a limited judgement.

(16–20)



	Good understanding of question. Well organised and effectively communicated with range of clear and specific supporting information showing good understanding of key features and issues, with some conceptual awareness.

(16–20)








	5

	Good understanding. Well organised and effectively communicated. Range of clear information showing good understanding and some conceptual awareness. Analytical in style, leading to a substantiated judgement.

(21–25)



	Very good understanding of full demands of question. Well organised and effectively delivered, with well-selected precise supporting information. Fully analytical with balanced argument and well-substantiated judgement.

(21–25)












1 The origins of the Cold War, c1945–49



Long-term causes of the Cold War


What was the Cold War?


The Cold War was a state of prolonged hostility between the USSR and the West from 1945 to 1991 that stopped short of direct war. It was characterised by threats, propaganda, proxy wars and military and economic competition.


Causes of the Cold War


Russian Revolution


Some historians trace the start of the Cold War to the Russian Revolution in 1917, which led to the first socialist state being established. The West viewed this with fear as it seemed to represent a threat to capitalism, liberal democracy and freedom.


Russian Civil War, 1918–21


The Russian perception of Western hostility was seemingly confirmed by the West’s support of the ‘Whites’ who sought to topple the newly established communist state. The West was also upset by Lenin’s decision to pull Russia out of the First World War in 1917. The Bolsheviks won the war but harboured much distrust towards the West thereafter.


War debts


Tensions mounted between the West and the Soviet Union as the latter refused to pay back the First World War debts since it viewed that event as an imperialist war, imperialism being an ideology it was directly opposed to.


The Comintern


The Comintern was established in 1919 to facilitate contact between communist groups to spread global revolution, which was the goal of Marxism–Leninism. Even though Stalin scrapped this in favour of ‘communism in one country’ in 1943, the West still feared that the USSR sought to undermine capitalism and spread revolution.


The Red Scare 1919


There was no significant left-wing or trade union movement in America. When the American Communist Society was founded in 1919, a ‘Red Scare’ swept across the States. In January 1920, 6,000 suspected communists were arrested and imprisoned. Many were deported.


The Nazi–Soviet Pact 1939


In August 1939, Stalin signed a pact with Hitler that guaranteed that neither would invade the other. Other European countries followed appeasement. The USA saw the Nazi–Soviet Pact as the work of two similar dictators.


Conflicting ideologies


Fundamental to the Cold War were the differences in ideology as detailed in the table at the bottom of this page.






	Communism

	Western capitalism/liberal democracy






	




•  One-party state wherein elections are contested between members of the Communist Party (the only legal party).



•  Freedoms are restricted: censorship, secret police, state atheism and controls on the rights of citizens to express themselves.



•  State-controlled (planned) economy; production must follow government plans and is sold at fixed prices.






	




•  Multi-party free elections.



•  Freedom: including the press, freedom of speech, freedom of worship and individual rights.



•  Characterised by private enterprise and competition, wherein businesses are owned by individuals and not the state. The government has minimal interference. The free market determines the quantity and costs of goods produced.
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[image: ] Delete as applicable


Below is a sample AS exam-style question and a paragraph written in answer to it. Read the paragraph and decide which of the possible options in bold is most appropriate. Delete the least appropriate options and complete the paragraph by justifying your selection.




‘The long-term causes of the Cold War were largely due to the actions of the Soviet Union.’ Explain why you agree or disagree with this view.







[image: ]


The long-term causes of the Cold War were due to the actions of the Soviet Union to a great/fair/limited extent. For example, after the Revolution in 1917, other political parties were abolished and a one-party state was established. The press was heavily censored, freedoms of speech were curtailed and the economy was run by the state. The Soviets also pulled out of the First World War; refused to pay back their war debts and went on to establish the Comintern in 1919 to encourage global revolution. Further, the USSR later signed the Nazi–Soviet Pact in 1939. Therefore, the USSR was extremely/moderately/slightly responsible for the Cold War because …


___________________________


___________________________
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[image: ] Identify relevant content


Read the following source and the question.


Go through the source and highlight the sections that are relevant for the focus of the question, and annotate in the margin the main points.




How valuable is the source for explaining why the Cold War developed?
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SOURCE


Part of a US Foreign Office report on attitudes in the USA towards the USSR, 6 April 1943


The Chicago Tribune has recently opened up a barrage on Soviet Russia. I have sent down clippings of these editorials to the embassy and the New York Office. I have also attempted to find out the causes and results of this most recent campaign.


On the face of it, the campaign is an attempt to prove that the United Nations owe no loyalty and very little gratitude to Soviet Russia. The USSR is represented as being an aggressive and almost entirely amoral power. It is pointed out that she only entered the war because of Hitler’s attack, and was not in any way opposed to Germany or Fascism on moral grounds. “A starkly realistic attitude” sees Russia as an equal menace to world security with Germany. As evidence of Russia’s aggressive tendencies, attention is drawn to the recent dispute with Poland over boundaries, the absorption of the Baltic states in 1940, and the war with Finland in 1939. As evidence of Russia’s untrustworthiness, it is pointed out that Russia has not yet even opened a second front in the Pacific.


[image: ]





US, British and USSR relations in 1945


The collapse of the Grand Alliance


The alliance between Britain, the US and the USSR was a ‘marriage of convenience’. Churchill respected but did not trust Stalin. Roosevelt was a realist who was more concerned with winning the war against Hitler. Cracks between the Allies emerged during the conferences that took place during the war.


Tehran 1943 and Moscow 1944


Post-war spheres of influence were discussed at these meetings. At the Moscow conference, Churchill and Stalin informally carved up eastern Europe and agreed that Britain would station troops in Greece. The USA opposed the agreement between Churchill and Stalin, which perhaps explains why Stalin sought more forceful ways of protecting his borders.


Bretton Woods


At this conference, Stalin initially agreed to join the IMF and World Bank with the promise of a loan. The USA imposed conditions such as opening up the eastern European and USSR markets to the USA. The USSR refused as this was seen as giving the USA power to determine diplomatic and internal politics in those countries through economic levers.


Tension at the Yalta Conference, 1945


There were tensions at this meeting but several agreements were reached, including:





•  The division of Germany into zones of occupation and the trial of Nazi war-criminals. The USSR was keen that Germany should not be allowed to re-emerge as a military threat.



•  They pledged to hold free elections in Poland. Churchill was keen to have the Polish Government in exile in London take power. Conversely, Stalin sought influence over Poland because Russia had been invaded three times via Poland in the twentieth century.



•  The USSR would join the war against Japan and join the United Nations (UN).





The breakdown of the Grand Alliance at Potsdam, 1945


Agreements from Yalta were reaffirmed at Potsdam. They also agreed that the USSR could extract reparations from Germany and that new borders between Poland and Germany were to be drawn up. However, further tensions emerged, including:





•  The Americans wanted an entirely new government in Poland as they felt the elections there had not been ‘free’, despite Stalin’s offer to include more London Poles in the Lublin-based government.



•  The Americans were unhappy with the spread of the Red Army across eastern Europe and the influence this afforded Stalin over the governments there.



•  President Roosevelt died and his successor, Harry Truman, was inclined to ‘get tough’ with the USSR. Churchill also lost the 1945 election and was replaced by a new prime minister from the Labour Party, Clement Atlee. Atlee lacked some of the diplomatic experience that Churchill had.



•  Soon after the conference the Americans dropped the bomb on Hiroshima (6 August 1945) and Nagasaki three days later, making Stalin’s help in Japan unnecessary. Stalin felt insulted by Truman’s failure to inform him about the bomb.





Other causes of tension





•  The discovery of a mass grave in Katyn Forest containing 10,000 Polish officers caused tension with the Western Allies. The Soviets denied any involvement.



•  The Soviets were accused of allowing the crushing of the Poles by the Nazis during the Warsaw Uprising in 1944. This alarmed the Western Allies.



•  The delay in opening a Second Front caused tensions between the Allies. The USSR felt it had been left to take the brunt of the war.
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[image: ] Identify the significance of provenance





(a) Look at what is said about the source:







      •  Who said it;


      •  What type of source it is;


      •  When it was said;


      •  Where it was said;


      •  And – crucially – why: what was the speaker’s purpose?








(b) What does this suggest about its value as a source of evidence?
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SOURCE


Winston Churchill, writing about the agreement between himself and Stalin on 4 October 1944, Moscow. From Winston Churchill, The Second World War, Vol. XI: Triumph and Tragedy (Cassell 1954), pages 226–8.


The moment was apt for business, so I said, ‘Let us settle about our affairs in the Balkans. Your armies are in Rumania* and Bulgaria. We have interests, missions, and agents there. Don’t let us get at cross-purposes in small ways. So far as Britain and Russia are concerned, how would it do for you to have ninety per cent predominance in Rumania, for us ninety per cent of say Greece, and go fifty-fifty about Yugoslavia?’ While this was being translated I wrote out on a half-sheet of paper … I pushed this across to Stalin, who by then heard the translation. There was a slight pause. Then he took his blue pencil and made a large tick upon it, and passed it back to us. It was all settled in no more time than it takes to set down.


*Romania


[image: ]
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[image: ] Mind map


Read the question and complete the mind map with a sentence of explanation. Then prioritise your reasons by adding numbers to each oval box – with 1 as the most important reason and 6 as the least important.




What were the causes of the Cold War?
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Developing tensions: Soviet occupation and control of eastern and southern Europe


Why did Stalin expand across eastern Europe?


One view is that Stalin’s aim after the war was to create a buffer zone against a hostile capitalist encirclement. Conversely, the West and some scholars view the expansion as a pursuit of global communism and an aggressive threat to Western capitalism, despite the scrapping of the Comintern in 1943.


What methods were used to establish and maintain control?


Various methods were used to exert control over eastern Europe, including:





•  Capitalising on some popular support for communist parties who advocated reform and were key in resisting the Nazis.



•  Using the influence of the Red Army to help spread communism. At least this was the Western perspective; however, much of the Red Army was demilitarised by 1945 – there were only 500 troops in Czechoslovakia in 1948, for example.



•  Salami tactics – the communists formed coalitions with other political parties in particular countries, then gradually assumed key positions in government and removed all opposition.



•  Establishment of the Cominform in 1947, which sought to co-ordinate communist parties across Europe. Countries were expected to embrace Soviet economics and foreign policy. Leaders who disagreed with Moscow were purged. However, in Yugoslavia, the popular communist movement under Tito would not be tamed and it led to them being expelled from the Cominform in 1948.



•  Establishment of the Comecon in 1949 for economic control (see page 16).



•  The Warsaw Pact in 1955 as a way of asserting military control over eastern Europe (see page 30).





Summary of events in eastern Europe






	Country

	Events






	Hungary

	After a period of coalition, the leaders of the Independent Smallholders’ Party were accused of offences against the Red Army and their party was dissolved in 1947. The communists assumed key positions in the government and abolished all political parties.






	Bulgaria

	The communists set up a coalition with the Peasants’ Party, after which the leader, Nicolai Petkov, was hanged in 1947 for allegedly plotting a coup.






	Poland

	In 1945, a coalition ‘Government of National Unity’ took power but Stalin arrested the non-communist leaders. By 1947, the London exiles allowed into the Lublin coalition by Stalin at Yalta were removed from office and the communists abolished all other political parties.






	Romania

	The Communist Party won 372/414 seats in elections in 1946; however, some of these results were forged. By 1947, all opposition parties were destroyed and King Michael had abdicated.






	East Germany

	In the eastern zone, Stalin instructed the communists to merge with the Socialist Party to form the Socialist Unity Party. The communists then began a purge of their new coalition partners and assumed power in East Germany.






	Czechoslovakia  

	In 1945, a coalition government was established. The communists (led by Klement Gottwald) took over the radio, police and army and in 1947, the secret police arrested the non-communists. In 1948, Gottwald organised demonstrations demanding communism. Jan Masaryk, the Czech Foreign Minister and one of the few non-communists left in the government, ‘fell’ from a window after indicating an interest in the Marshall Plan. Gottwald seized power.
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[image: ] Identify the tone and emphasis of a source


Study the source below. Don’t focus on the content as such; focus on:





•  the language



•  the sentence structure



•  the emphasis of the source



•  the overall tone.





What does the tone and emphasis of the source suggest about its value in terms of:





•  the reliability of the evidence?



•  the utility of the evidence for studying attitudes of Stalin to the Soviet expansion?
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SOURCE


From an interview with Josef Stalin in Pravda, 16 March 1946.


In battles with the Germans and also through the German occupation and through the expulsion of Soviet citizens to slave labour camps, the Soviet Union has irrevocably lost about 7 million people. It may be that some quarters are trying to push into oblivion these sacrifices of the Soviet people which enabled the liberation of Europe from the Hitlerite yoke. But the Soviet Union cannot forget them. We can ask, therefore, what can be surprising in the fact that the Soviet Union, in desiring to ensure its security for the future, tries to achieve that these countries should have governments whose relations to the Soviet Union are loyal?
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[image: ] Support or challenge? (‘How far do you agree?’)      [image: ]


Below is a sample exam question which asks how far you agree with a specific statement. Below this are a series of general statements which are relevant to the question. Using your own knowledge and the information on the opposite page, decide whether these statements support or challenge the statement in the question and tick the appropriate box.




‘Stalin’s expansion across eastern Europe was mainly due to defensive concerns.’ Explain why you agree or disagree with this view.









	STATEMENT

	
SUPPORT  

	
CHALLENGE  






	Stalin used the Red Army to control liberated countries.

	 

	 






	The USSR used salami tactics to put communists in positions of power while removing non-communists.

	 

	 






	Stalin established the Cominform and Comecon.

	 

	 






	The Soviet Union suffered great losses during the war, including from attacks via bordering countries.

	 

	 






	The Soviet Union tried to promote Marxism and the pursuit of global revolution.

	 

	 






	There was popular support for communist movements in some countries, e.g. Yugoslavia.
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Developing tensions: Containment


What was containment?


The objective of containment was to prevent the spread of communism. Thus a number of measures were adopted to nurture stable, democratic, capitalist states and to counter communism, including:





•  the Truman Doctrine




•  the Marshall Plan (see page 16)



•  the creation of a new West German state (see page 18)



•  NATO (see page 30)



•  the reconstruction of Japan (see page 24).





Why was it adopted?


A number of reasons are cited for the adoption of containment. Here are some of the main ones.


The ‘Iron Curtain’ Speech


In 1946, Churchill delivered an influential speech at Fulton, Missouri. He referred to the division of Europe into east and west, communist and capitalist, as the descending of an iron curtain. In order to meet the spread of communism, Churchill called for an alliance between the USA and Britain. The speech seemed to be in line with Truman’s ‘Iron Fist’ approach, and Stalin referred to the speech as a declaration of war.


Kennan’s Long Telegram


George Kennan was a US diplomat who had been based in Moscow since 1933. He sent an 8,000-word telegram to the American Government in 1946. Within it he described the Soviet Union as seeking global expansion and said that the Soviet regime was cruel, repressive and paranoid of outside hostility. In 1947, he followed this up with the Mr X article in the Foreign Affairs journal arguing that communism should be met with ‘firm and vigilant containment’. His commentary played a role in the forging of the containment strategy and the hardening of American attitudes.


Britain and the Greek Civil War


After the Second World War, Britain was £3,000m in debt and a bad winter of 1946–47 affected its economy when its industry ground to a halt. There was also political unrest in India, Palestine and Egypt alongside a delay in the peace treaties. This meant that the British army was stationed around the world, which was expensive to maintain. Britain had supported Greece and Turkey during their civil wars but now they could no longer afford to do so. The Americans were concerned as they believed that both countries were in danger of falling to communism. The Americans believed that where there was economic weakness, communist regimes could flourish and so the Truman Doctrine was launched on 12 March 1947, wherein Truman persuaded Congress to grant $400m in aid to Turkey and Greece.


Other factors


It is also said that there were other concerns that led to the adoption of containment.





•  The failure of appeasement towards Hitler in the 1930s proved that dictators could not be negotiated with.



•  If further countries fell to communism in Europe and Asia, this would interfere with US trade and would be bad for its economy.



•  An alternative to containment would be war, but there was no political will nor money for this so soon after the Second World War.



•  The Americans felt compelled to defend democracy and freedom.
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[image: ] Judgements on the value of a source      [image: ]


Read Source A below, and then the alternative answers that reflect the provenance of the source.


Which answer will gain the highest level in the mark scheme on page 7, and why?




[image: ]


The source is valuable to a historian investigating the reasons behind the adoption of the containment strategy because it reflects the opinion of President Truman who created it.
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The source is unreliable to a historian because it is biased.
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The source is partially valuable to a historian investigating the reasons behind the containment strategy because it reflects the view of President Truman, who formulated the policy. He comments on the nature of the Soviet Union and offers his justification for US aid to Greece and Turkey. However, it is less useful because the speech was intended to convince Congress of the need to give financial aid and the tone exaggerates the threat posed by communism.
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Having made your choice, read Source B and write an answer which mirrors the answer above that you have chosen as your model.
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SOURCE A


President Truman, speech to Congress in which he outlines the Truman Doctrine, 12 March 1947.


At the present moment in world history nearly every nation must choose between alternative ways of life. The choice is often not a free one. One way of life is based upon the will of the majority, and is distinguished by free institutions, representative government, free elections, guarantees of individual liberty, freedom of speech and religion, and freedom from political oppression.


The second way of life is based upon the will of a minority forcibly imposed upon the majority. It relies upon terror and oppression, a controlled press and radio, fixed elections, and the suppression of personal freedom. I believe that it must be the policy of the United States to support free peoples who are resisting attempted subjugation by armed minorities or by outside pressures.
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SOURCE B


Published in the July 1947 issue of the journal Foreign Affairs under the pseudonym ‘Mr. X’ by George Kennan, US Diplomat.


[The US] must continue to expect that Soviet policies will reflect no abstract love of peace and stability, no real faith in the possibility of a permanent happy coexistence of the Socialist and capitalist worlds, but rather a cautious, persistent pressure toward the disruption and weakening of all rival influence and rival power.


Balanced against this are the facts that Russia, as opposed to the Western world in general, is still by far the weaker party, that Soviet policy is highly flexible, and that Soviet society may well contain deficiencies which will eventually weaken its own total potential. This would of itself warrant the United States entering with reasonable confidence upon a policy of firm containment, designed to confront the Russians with unalterable counter-force at every point where they show signs of encroaching upon the interests of a peaceful and stable world.
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